
Übungsaufgaben Mathematik Klasse 2 

 

                 6 ∙ 3 = _____                1 ∙ 6   = _____                ____ ∙ 3 = 15              

                 7 ∙ 3 = _____                10 ∙ 3 = _____                ____ ∙ 6 = 18                 

                 2 ∙ 3 = _____                2 ∙ 3   = _____                ____ ∙ 3 = 27       

                                          

5 ∙ 3 = _____                6 ∙ 6   = _____                ____ ∙ 3 = 9                 

6 ∙ 9 = _____                1 ∙ 5   = _____                ____ ∙ 5 = 15              

7 ∙ 8 = _____                10 ∙ 7 = _____                ____ ∙ 6 = 66                 

2 ∙ 9 = _____                2 ∙ 3   = _____                ____ ∙ 8 = 56                 

5 ∙ 6 = _____                6 ∙ 10  = _____               ____ ∙ 9 = 9                 

 

                                 45 : 9 = ____             36 : 9 = ____               27 : 9 = ____ 

                                 9   : 3 = ____             81 : 9 = ____                54 : 6 = ____ 

                                 63 : 9 = ____             18 : 9 = ____                36 : 9 = ____ 

                                 90 : 9 = ____             18 : 6 = ____                30 : 3 = ____ 

 

12 – 5 = ____            13 – 7 = ____             6 + 7 = ____              9  + 8 = ____ 

32 – 5 = ____            23 – 7 = ____            26 + 7 = ___              19 + 8 = ____ 

52 – 5 = ____            23 – 9 = ____            66 + 7 = ___              39 + 8 = ____ 

 

47 + 13 = ___             52 + 17 = ___             47 – 12 = ___            59 – 16 = ___ 

47 + 23 = ___             52 + 27 = ___            47 – 22 = ___            59 – 26 = ___ 

47 + 43 = ___             52 + 37 = ___            47 – 42 = ___            59 – 46 = ___ 

 

 


